Maths 2 - Interpreting scaled pictograms

Favourite Fruit
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Banonoa  Gropes Apples Pears

Answer the following questions.
What is the favourite fruit?

How many children chose apples as their fovourite fruit?

How many more children chose bananas than grapes, as their fovourite
fruit?

How many children chose apples or pears as their fovourite
fruit?

Write your own questions for a friend.
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Red Blug Green Pink
Answer the following questions.

What is the least favourite colour?

How many children chose yellow as their fovourite colour?

How many fewer children chose green than blue as their favourite
colour?

How many children chose pink and red as their fovourite
colour?

Write your own questions for a friend.




Class Pets
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Dog Cat Fish  Rabbit Hamster

Answer the following questions.
Which is the most common pet?

How many pets are there in class?

How many more rabbits than hamsters are there?

How many fewer dogs than cats are there?

Write your own questions for a friend.
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hr Todd says the pictogram shows that year 3 has the
least amount of children in.
Do you agree? Why?
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wrs Tiggle-winkle says the pictogram shows that year
5 has 4 children in.
Do you agres? Why?

wl

Year | Amountof children

.un

0000
‘10000

© 100

' 100000
0000

100000

Jeremy Fisher says the pictogram shows that year 2
has doukxle the amount of children Year 3 has.
Do you agree? Prove it.
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